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1 1. Jfi R =

(1) 2a(y—2)—30(z—y);

(2) x2%(a® —b*) +y*(b* —a®).

fiik: (D JFRX=2a(y—2) +36(y—2)

=(y —2)(2a +3b)

(2) Fzt =22’ —b>) —y?(a® —b?)
=(a* —b*)(x* —y*)
=(a+b)(a—b)(x+y)(x—y)

B 2. 8 a’x +aty +b'x +b*y fEFE K.

i R =a*(x +y) +b*(x +y)
=(z +y)(a®+b*)

A8 AR HA R 74 S g

1] 32 FESEHE A 40 fige R =K

(D) a'b+2a°b* —a’b —2ab?;

(2) ab(c* —d*) +cd(a® —b*).

. (D a'b+2a°b* —a’b —2ab*
=ab(a® +2a*b—a —2b)
=ab[ (a® +2a%b) —(a +2b) ]
=abla*(a +2b) —(a +2b) ]
=ab| (a +2b)(a®*—1)]
=ab(a +2b)(a+1)(a—1)

(2) ab(c* —d*) +cd(a®* —b*)

=abc® —abd® +a’cd —b*cd
=(abc* +a*cd) —(abd® +b*cd)
=ac (bc +ad) —bd (ad +bc)

=(ad +bc) (ac —bd)
o g

(D) #\BAHEKEE: am +om=m(a +b);
(2) S ik AR .

, BAH
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A4
1. =z
(D Hay=2, W [z*y* —ay) —y @ —2’y)]+5x*y = ;
2x +y=6
2 Afprga| [ W Ty (=330 —2 By —a)' =
x—3y=
2. $TFFNS K iR =
(1) 4x?—y:+2x—y; (2) xty+2x3y? —x%y—2xy%;
(3) 2P +ax—(y*+y); 4) ab(x?—y*) +txy(a® —b?).
B
L T 51 i R =
(D a2ty —ay; (2) (a®>+b*)x?—a®—b%;
(3) 2% (x+1D —y(xy +a); (4) 5x%—15x +2xy —6y.

2. TESEEGE I 23 ik A =X
(1) mx?® —2mxy +my* —5x +5y; (2) 1—m*»A—n*) —4mn.
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3. a+b=0, 3K a® —2b°+a’b—2ab* H{H.

4. RUEAH 817 —27° — 9B WhREWE 45 B,

.2 3k

FiR [E]

TR o0 i A =

(1) SR HAR: a® £2ab +b> =(a +b)?;

2) FE N, a b= +b)la—b);

) A FTHAR: ® +06°=(a+b)(a® —ab+b?);

D SIFENR: & —0° = —b)(a® +ab+b?);

(5) ZEMETT A a® +b +c? +2ab +2bc +2ac =(a +b +c¢)?;
(6) PAELANSI T AR @’ +3a%b +3ab® +b° =(a +b)%;
(D PEESI AR o —3a*b +3ab* —b* =(a —b)°.
iR R

i 1. 43 T3 P L

(D) 82 —gpzs (2) 4’ —dab +b” —1;

(3) m?(x+3)* —m?n®, @ 2" —zy".

i (D 82* —
a2
~(2e—3)[ @) +2exg+(3) ]
(a4 (ar )

(2) 4a* —4dab+b*—1
=(4a® —4ab +b*) —1
=(2a —b)*—1
=[(2a —b) +1][(2a —b) —1]
=2a—b+1)Q2a—b—1)
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(3)

m*(x+y) —mn?

=m?[(x+y)*—n?]
=m?[(x+y)—n][(x+y):+nlx+y)+n?]
=m*(x+y—n)(x?+2xy +y* +tnx +ny+n?)
z'—zy®

=zx(x’—y*%)

=x(x®+y*)(x?—y*)

=x(x+y) (@ —xy+y) (x—y)(a* +xy +y?)

: A48 o i R =L
(22 +y2)? —4xy?; (2) (22?2 +1)% —4x?y?%;
a® —3a?b +3ab? —b* —2J2 ; (4) 1—a?®—b*—c*—2ab —2bc —2ac.

(1) (x?+y2)* —4x?y*
=(x* +y* +2xy) (x* +y* —2xy)
=(x+y)(x—y)?

(x?y? +1)% —4x?y?

=(x?y* +1+2xy)(a?y*+1—2xy)

=(xy +D*(xy —1)?

a® —Bulbt3ab® —b¥ — 22

=(a—b)* —(/2)}

=[(a—b) —/2][(a —b)*+/2(a —b)+2]

=(a—b—V2)(a* +b* —2ab +V2a —/2b +2)

1—a? —8% —c* —2ab—2bc —2ac

=1—(a +b+c)*

=(1+a+tb+ec)d—a—b—c)

AT SRAH.

8507 —1700 X 848 +848%;

29987 +2998 X4 +4;

#a+b=3, 3K 2a° +4ab +2b*> —6 HI{H.

: (1) 850% —1700 X 848 +848*

=850% —2 X850 X 848 +848?
= (850 —848)*
=4
2998% +2998 X4 +4
=2998% +2 X2 X2998 +2°
=(2998 +2)?
=9 x10°
KK a+b=3
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FrLh, 2a® +4ab +20* —6
=2(a®+2ab +b*) —6

=2(a +b)* —6
=2X3%—6
=12

B2

PPN FVAR , FITIEFEAIN AR M0,

S8 1.2
A

1. 7ESCBE R N T 5145 X o i R =K.
(1) 3mQ2x —y)* —3mn’; (2) a® —9a;

(3) (a—0)b* —4(a—b); (4) 8xy® ——-.

2. T 545 A L L N o3 R L
(1) 2% —8y* —x* —2xy —4y*;

(2) a®+3a+b>+3b+c?+3¢c +2ab +2bc +2ac;

(3) a®—3a’b+3ab? —b® —64;

(4) a®+b*+c?+2ab —2bc —2ac —1.
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B

L. FESEECE I N o i R =
(1) 4x% —y%; (2) —16+a%b?;

1‘2 .2 2 2
(3) m—Zoy ; 1) (x+2y) —(x—y)%;
(5) x*—3; 6) z*—4,
2. srfgAE.
(1) 322 —15; (2) m*—m;
(3) a?+b%*+c? —2ab+2bc —2ac —3; (4) x®+3x%+3x+2.

3. (D #FHa—b=1, RIEK a® —b> —2b W1 ;
(2) Bl x+y=3, xy=2, 3R 2* +y* AUH.

2 8 4=E:4

ZIRTERBR FEH=ABR, 52—-32=8x2, 92 —72 =8Xx4, 152 —32=8Xx27. Fi&
5 G T BA A E .

112 —52 =8X12, 152 —72=8X22, «==

(D HREEEMA CREF EmE=0D BA R &

(2) H3CF5 e A AR

(3) TEBAX AR Y IE B .
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L3 Ak

FAIR =]
FIATFARE S ME, SR ERSH (a1 +o1) (ax tez) =ajarx” +(aje;, +
asc)x Teye, WASEEN, Fadk, wiisH)
ara,x’+(aics Faze)x Feico =C(a1x +e1)(asx +c¢3)
BB
PR EI ax? +bx oo B ZIHAWRE a S arar s FHEOR ¢ 53 cice
(a=ajazs c=cicy)s FHHM a1, ars c15 2 HEFIEL:

a, &

X BRSSO, PN a1 co tazer HUR—IRIUREL .

PG s B+ 58 SR i A 8 R = R O vk, R A
TR

IR DR RIS H RO

@A, FAHAN;

OKHmE . 85 ML

W38 SR RS, RS RN REL.

FiR R

i) 1. 485 585 20k A =

(1) x?—T7x—8; (2) 22 4+2x —8;

(3) 3x* —5x+2; (4) 3x*+5x +2.

fit: (1) x*—7x—38 (2) 2% +2x—8
=z +1)(x —8) = —2)Cx 147

(3) B3x%—bw+2 (4) 32%+5x+2

=(x—DQBx—2) =(x+1)(3zx+2)

1l 2: 2SR R A o PR =

(1) 6x*—11x +3; C2) 7Ce+9) —b(x +3) —2;

(3) 10m*n* —5mn —5; (4) 16a* +6v3ab —3b*

f#. (D 6x%—11x +3 (2) T(x+y)—5(x+y)—2
=Bx—1D(2x—3) =[(x+y)—1][7(x+y)+2]

=(x+y—DTx+7y+2)
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(3) 10m*n® —5mn —5 (4) 16a’ +6/3ab —3b>
=50mn —1) 2mn +1) = (2a +/3b) (8a —/3b)
B4

IMEAER . DREIr — RIS HBOW 5

@A UAHAE . FARAN;

Of ke, 5 HK

T 3R N RO S, RS U RERL.

S 1.3
A4l
1. BT i R =X
(1) x2*+8x+12; (2) 2 —11x—12;
(3) 22 —T7x+12; (4) 2% —4x —12;
(5) x2+13x+12; (6) x?—x—12.
2. TESCHEGE RN 5 i R =
(1) 122%+5x —3; (2) 32%—16xy —12y%;
(3) 5(x+y)?—3(x+y)—2; (4) 8a® —26ab +15b°.
B4

—.
1. ) z?—px+q=(x +a)x+b), 4 p HT( ).

A.ab B.a+b C. —ab D. —(a +b)
2. ) 22+ (a+b)x +5b=x% —x —30, N b K( ).
A.5 B. —6 C. —5 D.6

3. ZIWR 22 —3x Ta AMHEN(x—5)(x—b)s Wa, b BESH]H( ).
A.10 1 —2 B. —10 f1 2 C.10 12 D. —10 fl1 —2
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AEER T HTRE S REEC .

A.x?+x—2 B. 322 —10x +3

Cdz?+x+2 D.5x% —6xy —8y?
IMREERET (2 +y —0 Qe +2y —5WETAZC ).

A.2(x+y)"—13(x +y) +20 B. Q2x +2y)* —13(x +y) +20

C.2(x +y)*+13(x +y) +20 D.2(x+y)*—9(x +y) +20

. s
1. R, 22 +3x—10=

2. Fm’®—5Sm—6=0m+a)m—0b), mﬂa* , b=

3. 222 —5x—3=(z—3)( A

4, x*+ —2y*=(x—y)( ).

=, BRI

(1) x2?—Tx+6; (2) 3x2%242x—1;

(3) 4x%*—5x—9; (4) 15x%—23x +8;

(5) ' +11x?—12; (6) 2" —102%+9;

(7)) T(x+y) —=5(x+y):—2(x+y); (8) (a®+8a)?+22(a?+8a) +120.

1.4 =Wk =W VL L2 5i H =50 i

FNiR [E]

X = RE =R A 2 R o, B [ i i, 32 R X i T A
TER—AEEE N —BETE R N Sy Sext 20 TE YRR A, LA RIR
s R A0 B R, AT i — 28 PR o i

R VR

1. @A, 4ot +1.

fi#. dx*+1

=4x" +4x? +1 —42°
= 22" +1)*—(2x)*
=Q2x*+1+22)Q2x* +1—2x)



%1% BAX5® 11

B 2. RNXft: 9a' —4a® +4a —1.
fi#t. 9a* —4a® +4a —1
=9a"' —(4a® —4a +1)
=9%a' —(2a —1)*
=(3a*+2a —1)(3a® —2a +1)
=(a+1)(3a —1)(3a* —2a +1)
1] 3+ FESEELTE A HE T 9125 200 i IR =X
(D) x' —72*+1;
(2) 2*+22+2ax+1—a?;
(8Y €142 —2x¥{1—9* ) T2* (1 —37%;
(4) x*+22° +32% +2x +1.
BT (1) BRI 72 BN 22° — 927, RIGZIMALR «' +22° +1 927, HJF
FI 584 J5 A ORI J5 2525 253t PR =X B AT SR A 5
(2) HERILLHAEN 2! +22% +1 —2 +2ax —a?, RIGFIFHAR A H KX ENAT
A5
(3) B —227 (A —y)H AN —22* (A +y) (A —y), RIEHMAEEFIT A MHH
BRI AT SR fi# 5
D HEELWMAAZ R o' +2° 2t +2d 2t o 2t a1, REEAD—HERA
PRI, SRS R s PR = B AT SR i
ik, (1) x' —72%+1
=z* +22% +1—9x2
={p? +13% —(8x)*
=(x? +3x +1)(x? =3z +1)
(2) z*+z? +2ax+1—a"
=x'+22"+1—2* +2ax —a*
=(z?+1)* —(x —a)*
=(x'+tax+l—a)(x*—x+1+ta)
(3) A+y)? =221 —y?) +x'(1—y)?
=(1+y)? =222 +y)A—y) +x2'(1—y)°
=(1+y)2—222A+y)A—y) +H[2*A—y)]*
=[A+y)—22A—y)
=(1+y—x?+xly)?
(4) x*+22° +82% +2x +1
=z'+2P tat 2ttt e ot a1
=g¥(z® +x+1) tx (&? tx + 1) +a? +z +1
=(x?+ax+1?*
BE

— PRIy SEXt 2T IS A s d . DR B FRECAS PR XN 2
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BT HR . AT 2E— 28 3.

S 1.4
A

L BT 248 A SR ] A 73 figg TR 5
(1) 3x*+2x%y? —5ky*; (2) 24yt —2x%y%;

3) (x—D(x+2)(x—3)(x+4) +24; 1) (' 4z =) (x* +2% +3) +10.

B 48
1. FESCEGE R N 51482 i R =K
(1) 4x®—31x +15; (2) 2a?2b* +2a%c? +2b%c* —a* —b* —c*;
(3) 2°+ax+1; (4) x%+5x%+3x—09.

2. BT 9 & A SR B N il R =X
(D 2a* —a® —6a® —a+2;

(2) a®+b%+cd +bc(b+c¢) +tcalec+a) Tabla+b);

(3) a®*b—c) +b*(c —a) +c?*(a —b).
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SJ@ 1.1
A4

L (D %; 2 6.

2. (1) QCx—y)Qax+y+1); (2) ay(x+D(x—D(x+2y);

(3) (x—y)Cx+y—+1); (4) Cax —by)(ay +bx).
B4
1. (D) xy(x—D(x*+x+1); (2) (a*+b*)(x+D(x—1);
) zx—y)(x+y+D; (1) (x—3)oxt2y).
2. (1) (x—y)Gnx —my —5); (2) mn—1+m+n) Gnn—1—m —n).
3.0,

4, f#. Kk 817 —27° —9¥®
=(34)7 —(3%3)? — (321

:328 _327 _326
=3%(9—3—1)
=3% X5
=3% X45

A, 817 —27° —9“HEME 45 B[k,

IJE 1.2
A4
1 (1) 8m(Bz—y+u) Bz —y—n); 2y wla+3ta—3)
1 , 5. 2
(83 g —BIth -+ —2); (4) (zxy—g)(z;x 5?2 +—xy+25>
2. (D (x—2y—D(x*+2xy+4y?); (2) (a+b+c)la+b+c+3);

(3) (a—b—4)(a*—2ab+b*+da —4b+16); 4) (at+b—c+Dla+b—c—D.
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B4
1. (1 Qx+y)Qx—y); (2) (ab+4)(ab—4);
o i ™ iy _r . ) .
(3) <E+5y)<ﬁ) oy), (4) 3yQ2x+y);
(5) (x—/3) (x+/3); (6) (22+2)(x+/2)(x—/2).
2. (1) 3(x+5)(x—/5); (2) mGm+1DGn—1);

(3) (@a—b—cH+/3)a—b—c—/3); (4) (x+2)(x?+zx+1).

3. (D1 GRR: Bra=b+1RRAHIED; (2) 9.

8 4=k

(1) BEAME—, 0. 112 —92=8X5, 13 —112 =8 X6.

(2) AEBWAEEIF I 25T 8 IATEL

(3) EM. &m, n NEE, WSROI FRRKN 2m +1 1 2n+1, WCm+1)? —2n+
D2 =4n—n)m+n+1D. OYm, n [[AEZFEEABEET, m—n —F BB, S 40m—n)
m+n+1D)—F= S EE; QY m, n —aF—BEF, W om+n+1 —F B, S40n
=) (m +n+D—ESE 8 FEEL L LR, (EEWEEIT 22 8 BIfEEL

& 1.3
Az
1. (1) (x+2)(x+6); 2) (z—12)(x+1); (3) (x—3)(x—4);
4) (x—6)(x+2); (5) (x+D(x+12) (6) (x—4)(x+3).
2. (1) Bx—1)Ux+3); (2) (x—6y)Bx+2y);
(3) (x+y—1D(Gx+5y+2); (4) (2a —5b)(4a —3b).
B4

—, PR

1. D 2. B 3. D 4. C 5 A
—. EHEE

1. (x—2)(x+5); 2.1, 6;

3. 2x+1; 4. a@yy 2y,
=, (D (x—D(x—6);

(2) (x+D@Bx—1D;

3) (x+1D) 4x—9);

(1) (z =D A5x2 —8);

&) (2 +12 =z +1 e —1}3

6) (z+D(x—Da+3)(x—3);

(D) (x+y)(x+y—1DTx+Ty+2);
(8) (a+2)(a+6)(a*+8a+10).



